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In the triangle shown above, if @ increases at a constant rate of3'radians per minute, at what rate ﬂ1+ '3 2":: § -
is y decreasing in units per minute when x equals 3 units? T /4 Y 2 l (;.
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2. A particle moves along a horizontal line so that at any time ¢ its position is given by
x(t) = 2net + cos(2nt). : /
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\0) Find the acceleration at time t. 3, (1{3 - = om ws(eln t) T
a(t)= *LFnlcoﬁ(QW{)

dr-Amin(3t)=0, 1,4
“Im s‘)n(l).nt}) =-Jr W

h .lgin(il.—rl:) = l‘—m | | t:
V(&)= 2n( - sindrt. )

v(t) | 4 { !“.+ \
ol iy ! %@ q/zr %




£y ek Rl
3) Find dy/dx r_j;SElCX =12 — 3y + 5x* J rpﬂ/«k‘J\'
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